“/3" Recaf 0'(: (e-l
G;—.l LM D‘c COS(V\Q.S AAS ASA — | soln

sm-_’o ‘‘‘‘‘‘ ('or ‘‘‘‘‘ Lso"‘s

. 0\L= b+ c* -2 bc CeA *SO\V&—(\NH\;
c o b= 0+ c*-2ac o f Shocter
plp N\ C= WrbT-2abesC Ses ¢
angles ----

QXD SD\W"H‘W- AN 6\\1'0\ A:\')-D.‘lo-.-.'?) C=8

G @
% 6F=h +c - Lor e A
0= T+ 2" -2 (1X(8) s 20°
@

mec= (30— (201 28) =62
ex2) L=, asu, bt
GAS —/—\ ™= otk P -2.a% Cos €
qL‘ C = 7-+(0‘L_4)—Q_txb) CDS"('):
AT C C= d.op

do{ _ o A= o '-(sum-) GO mibs D= (4244)

Sin4q2 - S A
ex s) 0.=8, b:m =S @
4

:.OL.:'O‘:_ Lolo Cos
(C’ o —b = cosC
S=8=1w
""'">=CO$ 7-(?)00)

5 2
Sm2d0- SMA A= e 89"*"),@
B= g (20452) =Q%)




Area of o D - SSS
Hefa’f\‘$ Brwmuwla

/AV = \f S (S—&XS—&))(S <) <= -3:-_ (axlotc)

ex ) Fd He aen of tHha Nz o= 6, b= 16, =R
g=L(brt®) = 1 (49 = 20

A= \F 20 (20— 6)(20 6 20—18) = 20(1H)VC2)
A ‘@7-32 un@

H’U"’ P bl| #2-20euen



